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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 Find out which of the following sets form co-prime numbers.
fArfeiad aaeadl # @ Hia-a1 §g e GCIN F491qr gl
v (12,7
Ans X5 (21, 42)
X3 6.9
X4 (43,129

Q.2 The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase of 10% and 5%  Question

of their existing salaries respectively, what will be the new ratio?

Question 1D :9888374339
Status :Answered
Choscn Option :1

D :9888374548

Status :Answered

P 3R Q & A% das & 3eurd 4:3 81 afg P3RQ & addAE daad # sAAw: 10% Chosen,

@ 5% #T & g §, A AT AT FAT FI?
v 88-63

Ans X5 63-88
X3 45-60

X4 6045
Q.3 The Home Rule Leagues set up in 1915-16 worked as auxiliary units of the

Option :

Question

D :9888374500

1915-16 & Tafag E!FFIW el AFa 7 O TRadr RSGIEED %‘é— & T H HEH FAl Status :Answered

off?

Muslim League
AREerH o
71 Indian National Congress

Extremists

X 5. srfarfezt

British Raj
X4 ffer o=

Ans

Q.4

Chosen
Option :

Question

1D :

Status :Answered
Chosen
Option :

9888374530



Ans

Q.5

Ans

Q.6

Ans

Q.7
Ans

Q.8

Ans

Q.9

Fill “rGra'iJ higg_k with the most appropriate option below.

A= mc ing has come to stay, future financial transactions would be based on

bR

Point of Sale,

F’Efﬁ;ﬁaﬁ [ & gaifs s9gFd ga #¢ Read wu= sl

a"?‘??RObOTicsﬂﬁ%fnmqﬂﬂﬁm_ & or w P gt § facdm delA
3. IR =
Wireless IIEE” AT T Eﬁ?‘}fl
v, R
, an Assamese wildlife biologist won the Royal Bank of Scotland (RBS) Earth Question
Heroes Award 2016. ID:
Status :Answered

e it E— A e dF i Fpices (3 Ell wH) Choscn2
oY m Hars 2016 Sidr Option :

Angoorlata Deka

X T S
Aparajita Borkotoki

X, srRrferar dREEE
Subrata Sharma

X, gE AT

P

9888374506

Purnima Devi Barman
v, qiotAr &t S
Which of the following Vedas contains treatment for diseases? Question 1D :9888374498

& & —— Status :Answered
il @I’ ac FT STAR AT 2 ?‘7 Chosen Option :4
Yajur
Ky TR
Rig
Ko, R
~ Sama
X3, |
Atharva
Wy 3d
HOlRSE : SERHO : : CURSE : ? Question 1D (9888374581
4 1. ERCUS Status :Answered
o Chosen Option :4
~ > SECRU
# 3. RCUES

¥ 4 SERCU _ _ .
K and L can do a work in 15 and 20 days respectively. They work together for 5 days and leave.  Question

Calculate the unfinished portion of the work. ID:

Status :Answered

K duT L U HIH &l el A 15 3T 20 Gt & @A & Ghd 81 9 5@ U Chosen

AT A FLh a0 Ald ol FIA & AGOT HET FHT 701 HIfAT] Option:
7

X 12
5

9888374550

Question 1D 19888374574
Status :Answered
Chosen Option :2



A C"mP-'j&ir'ifa}éﬁéiﬁY- e
ns A gmi Navy::?2: i i
.?{‘111] ; mm‘ a‘i-'} naian AIr rorce
1R Ajr Chief Marshal
o T A At
I PR T T ] s "? "
WIS T St AT 11 2 AR AT Qe
X3 WR aEd AR

Flight Lieutenant

X 4 werse dffcec

Q.10 A guestion and three statements labeled (T), (II) and (III) are given. You

have to decide which statement(s) 1s/are sufficient to answer the question.

Question: Can vou make an overall assessment of the present level of

stock market index today?

Statements:

L Today, the stock market index has reached lower than the lowest
duning the last 3 years.

II. During the last year, the index fluctuated between 30,360 and
28.255.

IIL. The stock market index touched a low of 27,125 in the preceding 3

vears.

Select the right option from the following.

T v weT R A wAA (1), (1) R () RE ww E
Has g o oer § & 9ed &1 3caX & & o Fila-

g/Ela-g s gaiea 22

WeT: &7 37T 3ol R JeR JIHIh & aoAE Tl H

AT Hedihd HT Tohd o7

LN

. 3 WK SR gaFie Ao 3 a6l & ga8 $

Wﬁaﬂaﬂ?}qﬁ’ﬂwﬁl

Il oo ad & cle, gasis # 30,360 31T 28,255 &

ST 3AR-Tera Tl
M. oo 3 |l # PR de’ Faadhis o 27,125 &
foreel FaT H T3

farafaf@a & ¥ w6 fRwew g
All the three statements I, IT and III are insufficient.

AN x| w1, Il T N, de s #

Both statements I and III are sufficient.

v, Fua | 3T Il gt e €

Both statements II and III are sufficient.

X5 ®ue 1 3R 1 gt 93T gl

Both statements I and II are sufficient.

X4 Fa | 3T I g 3T gl

Q11 Indian Railways network connects about stations.
HRCAT {eT wicadh erarsiar TERET F SAlsar gl
Ans X, 12,000
<5 14,000

V'3 8,000

Question 1D 9888374608
Status :Answered
Chosen Option :2

Question 1D 9888374537
Status :Answered
Chosen Option :2



2 4 10,000

Q.12 If TEACHER is coded as 8412745, CHEATER will be coded as: Question IDC)RSR%?‘%S%
afg TEACHER @1 8412745 & 9 & @I5 f&al Sl §, df CHEATER &I 8 9 ¢ Answered
SATTAT? Chosen
) Eﬁ]g fepar A : Option :4
Ans £S5 1. 2714845
X2 2741485
<3 2748145
V4 2741845
Q.13 Select the number which is different from the other numbers given below: Question 1D 9888374588
Status :Answered
157, 571, 599, 387 Chosen Option :4

gg HEAT ol S A" & TS 3T e 4 fEed @

197, 571,599,387
Ans  #5 1. 571

X5 157
<3 599

v, 387
Q.14 8 boxes of a fruit were purchased for Rs. 9,600. 5 boxes were sold at a profit of 10% and 3 boxes  Question

were sold at a loss of 10%. What 1s the net gain in percentage? D:
Status :Answered

ud %l & 8 fBed 9,600 ¥ A wlG S g1 5 f3sd 10% & @t 9 @ 3 B Chosen,

10% & gifd W 92 S &1 g aner gfaed 7 82 option
Ans 1. 2.75%
v, 25%
<3 2%
X4 225%
Q.15 Hubble’s Law is related to Question 1D :9888374523

. i Status :Answered
gl & =HaH  watdd g )

Chosen Option :3
Heat
X FEAT
Sound
X eafa
Astronomy
v 3 @aferr
Air Pressure
X4 &1 & qard
Q.16 In April 2016, the National Green Tribunal suspended the environmental clearance given to the Question
proposed hydropower project in Arunachal Pradesh to save the D

sttt 2016 # Udra R 3w A g & fre s e & S
wEdifad siel [degd RIS & fou & 15 g2diedor A9l &1 f@dfea X feam ()Lp}f;ﬁn

Great Hornbills
Ans xll, el g‘ﬁﬁﬂ
Gayals
X, T/
Medicinal Plants
X 3 3twefi ofert

Black-necked Cranes
4 FIE G arel AR
Q.17 GSAT-18 launched by India in October 2016, was essentially a satellite. Question 1D ;9888374532
) Status :Answered
FaeaR 2016 # IR c@RI aifud Sfidie-18 Held: s 399E &l o e

Chosen Option :1
meteorological

Ans o it g

9888374567

Ans

0888374508



remote sensing
X, ReAle afFar
communication
- earth observation
X, gt adaator
Q.18 The river 1sland Majuli which became “India’s first and only island district” 15 located : QUESFSH-%S% 74493

Aar C@ﬂ'ﬂ' ATSTell, ST "9 T 9gell 3R TFAH a@ﬂ‘q’ e &4 14T g, ¥ Status :Answered

Choscn4
FEerd ![]-»rl Option :
Karnataka

Ans :
X | Felch
Jammu and Kashmir
X, STFH-FER
Himachal Pradesh

X5 TeATae e
Assam
vy A
Q.19 clicking on mouse selects the entire paragraph by default, while working with text Question
document in MS Word. ID:

o . Not
UH UH 95 & CoEC SHgAC A FHA WA FHIT ABT A Fae FA W SmmS:A?tcmptcd

g Riec ¥ A 9 RS FT TI7 FIT 2 (ﬁpﬂj’gﬁ”
Alt + Single )
Ans e Alt + ffarer
" Triple
e
- Double
K3 59
Single
?(4‘ THarer
Q.20 The Nobel Peace Prize 2016 was awarded to: Question 1D :9888374513
Ao eifad WERR 2016 § Seg GEATIT fhar 3= , ity
L2 Chosen Option :4
David J. Thouless
Ans x 3fas o offe
1. Bob Dylan
X i B
Bernard L. Feringa
X3 9o wd. Hir
Juan Manuel Santos
W, 3 A drm
Q.21 Find the least number which should be added to 1456 so that it is divisible by 6, 5 and 4 without ~ Question

leaving a remainder. 1D :
Status :Answered

a8 BIA-H-SId Hewr Ad FfSe FEd 1456 7 St ) A 6, 5 A 4 F O Chosen,

0888374529

9888374540

- a_ S a-l Option :°
<16
Ans K-Z. 61
3 44
<416
Q.22 Question ID ;9888374589

Status :Answered
Chosen Option :1



Ans

Q.23

Ans

Q.24

Ans

Q.25
Ans

Ans

Q.27

Ans

Choos: Eieptile which 1s not sumilar to the others in the group given
helow:

Y a0 00 Reptile, Snake
#ﬁ;f;';fe g A A 30 g S o 3T & T G

’i%?'ﬁ?ﬂiza:d Aes, d09T, |
X3 g

~ Crocodile
Xy, AIHATS
In a class of 135 students, the number of boys is twice that of girls. One-sixth of the boys and Quu%tlong88 8374550
one-third of the girls failed in the final examination. Find the percentage of students who passed
e Std'ﬁllb .Answcrcd
the examination. Chosen

135 @Il 1 weh el A, oghl H GEAT AsfEAl F1 GEar f gupEr §1 e 9diEr  option -
A 1/6 @k aw 1/3 asfEar segedot & ) 39 o & gfdwd A fifse St

qf& # Seciof gu Bl
K1 75%
Ko 71.45%
v 7778 %

<4 8123 %
If p and q are in the ratio 4 : 3 and their LCM i3 36, p + ¢ =? Question 1D 19888374545

Status :Answered

afe p ¥l q T JieTHId 4:3 @ @. 4. 36 %’ Gl ptq="7? Chosen Option :2

#1118

v 21

<1 24

<412
EIMQUY : CGKOSW : : BFINRV : ? Question [D 19888374579

Kll. CGKOSW ‘ 7S‘£a.tus :Answered

?{.2 DHLPTX Chosen Option :4

/3 AEIMQU

4 ZDHLPT

» What is the cost price of a product, if the gain in selling it for Rs. 27,120 15 13%? Question 1D :9888374568

Status :Answered

% 391G, T FT Hed &1 ¢, Ii6 39 27,120 99 # s94 T 13% ﬂmm%—?(hoscnopt]on

Rs. 24 600 2
21 ©.24,600
" Rs. 24,000
V> %.24,000
Rs. 22,800
<3 $.22,800
Rs. 25300
K4 25300

The simple interest at 10% p.a. on a deposit for 2 years 1s Rs. 4,000. If the interest 1s compounded Q“e“longggmmsﬁz
on an annual basis, how much more will be the amount of interest? ID:
Status :Answered

TF AT TR O 2 9 F 10% Fr affis @rURoT sarst o A arer sawr 4,000 Chosen,
T | A s A 3TUR W wdiE & & G @ ar st i meer & 0o
Rs. 200

,
/1 g2

X5 240 H
Rs. 220

X3 5200 H
Rs. 190

24 ®.190 r



Q.28 The difference between the selling prices of an item at a profit of 9% and 7% was Rs.190. Find Question9888374565

the cost price of the item.

ID:
Status :Answered

T TEG PT 9% O T AT FAT 7% AN T ST H AT T A 190 T AT I Chosen,

31T -:Es_"ﬁm‘ﬂ FI Hed A ST

21 ©.9.200
Rs. 9,500

W, %.9,500
Rs. 8,700

23 %.8,700
 Rs.9.000

X 4 %.9,000

Q.29 Pointing to a photograph a lady said, “he is the son of my grandfather’s
only son™. How is the person in the photo related to the lady?

U TEdIT T 3 URT A gY UH Afgel o Fel, “Tg A
GIarel & SHelld I¢ &1 9T &7 dEd & =afeg 39 Afger
FT FAT Tl 57
Grandfather
Ans K'l.m
Father
K'Q‘ﬁﬂT
Son

.Kj. der
Brother
v, S
Q.30 Which of the following international football stars belongs to Brazil?
foiet & @ Fld-ar 9= IS Pedla st sreiier o1 87
Neymar
Ans ‘.(‘1 ﬁ—ﬂﬂ
" Gabriel Batistuta
X, Hsrrer arfcegan
Marcos Rojo

?(3. FI'IEFTH ﬁsﬁ

Lionel Messt
X4 foraee A

Q.31 Interchange two mathematical operators and balance the incorrect equation given below:

Ans

16-24%x2+10+104=0
&l AU HehRepl &1 TAT 399 & dcel 31 e QU arv arerd gaetor &y

Hdield wL:

16 - 24 x2+ 10+ 104 =0

—and x

Ans v, * 3 =
‘4 and =

K.2.+ ﬁﬂT x
—and +

21'3.— 3ﬁ?+

= and —

Ky o+ 3T -

Q.32

Option :

Question 1D :9888374390
Status :Answered
Chosen Option :4

Question 1D ;9888374502
Status :Answcered
Chosen Option ;1

Question 1D 19888374587
Status :Answered
Chosen Option :1

Question ID 19888374609
Status :Answered
Chosen Option ;1



Ans

A question and three statements labeled (I), (I[) and (III) are given. You
have to decide which statement(s) 1s/are sufficient to answer the question.

Question: Find out the minimum number of nurses needed by the
hospital. www

examstocks
Statements:
L There are three shifts round the clock.
IL. There are thirteen wards requiring two nurses per shift.
L The town needs at least three nurses per thousand population.

Select the right option from the following.

A e g 3R dF A (), () 3T () Ge v g
39 ag vl oer & & 92e 1 3ok & & fou sl
gi/la-g s gaiea 22

e IETATS H 3T 41 FT +gefad HEAT Iard|

CTILH

111.
1.

agl dtdry g¢ fr da ofet §

agl g 912 §, o= fow gfa arelr o) aat &
FHTaRTSAT Bl

Both statements II and III are sufficient pay-g-ga el sT&l &1

Foa 1 3T 1l gt waea g

TUNCT I IT

Only statement I 1s sufficient.

Xafhaer FU | AT &1 g

X3,

vy

Both statements [ and III are sufficient.

Foa | 3R 1l =1 gafea &

Both statements I and II are sufficient.

Fo | 3T 1l g=1 waa g

Q.33 Complete the analopy with the most suitable option:

Ans

Rice :

Carbohydrate :: Sprouts : ?

Halfdeh 39gad fahed I ga S AL T H:

didel

X,

v
.
4.

: FrefglEze = PR @ ?
Water

STer

Protein

i
Heat
FEHT
Fat
odr

Q.34 WWEF stands for:
Secd 55¢ Uh &1 YU 1A &

Ans

X
<.
v

x4

Web World Federation

a9 dos thaend
World Wildlife Federation

des diSesdls® halerd
World Wildlife Fund

des dlSesdlsh HUs
World Web Federation

do= d9 helael

Question 1D ;9888374576
Status :Answered
Chosen Option :2

Question 1D (9888374533
Status :Answered
Chosen Option :2

Question 1D 9888374535
Status :Answered



‘Ponzi’ erhama rafars to the scam.
coal allocation R

ADS ST svererr sdes— SICT F aRiET B
investment
V) A
~ fodder
A3 TGRT
food grain
'K.-fl. CICRIED
Q.36 *Absolute zero® refers to s
WH dr9 &l g2iidr g1
minus 273 °C
Ans o Fm F 273°C FA
W ™
minus 295 °C
X, T T 295°C FA
minus 300 °C
X, =T d 300°C FA
minus 2355 °C
X, YT @ 255°C %A
Q.37 Which one of the following islands does NOT belong to Lakshadweep?
rafafaa # & sla-ar ediv deed & g&faa ag 82
Minicoy
Ans X, @
Kavaratti
X, Fatedl
Neil
SN
Amini
X 4 3R
Q.38 Read the following statements and select the option which is NOT

true based on the statements:

The cost of six mangoes 1s equal to the cost of four apples. The cost of
eight apples 15 equal to the cost of two jackfruts.

frfeif@d Fol &1 9¢ A 9§ AFed g ot Fual &
HIUR 9T TEY =6 8

©g AT f aerg IR F&t H dET & e g1 36 et
Y oETd Y Segal &l oeTd & el gl

A mango is not as costly as an apple.

AnS Teh 3TH 3l HAgal Ag1 ¢ foidelr o qe)
" An apple is cheaper than a jackfruit.

X, UF U9 UH wegd @ TEAT B
Jackfrut 1s the costliest of all.

Xy Fegd 3 T F gEw AL g

An apple 1s not as costly as a mango.

V', TF AT 3T HAGIN o6l § Totdell T 3|

Chosen Option :3

Question 1D :9888374518
Status :Answered
Chosen Option :1

Question ID 9888374494
Status :Answered
Chosen Option :1

Question 1D 19888374593
Status :Answered
Chosen Option :4

Q.39 10 men and 5 women can do a work in 60 days. If one man can do the work of two women, how Questiongggmﬂsss

long will 5 men and 20 women take to complete half of the work?

ID :
Status :Answered

10 9% qor 5 ARRArd wh A # 60 el A @ A §1 AR T I ol ARGAST Chosen

&1 T FT Gl ¢, d 5 T do 20 ARAN 3§ F & 30 q097 F 97 F H

ToFdaT TFT w7
Ans 9

Option :



Q.40 In July 2016, a Russian priest set a new record of flying solo in an air balloon around the World, ()uesliongggm7 4491
in just over days. 1D

ST 2016 3 T T T A G F AR F A T A Faw A A U g

Chosen

qfl gfaaT &1 TeFhY oETR Ush =AT Repis ST Option :
Ans K.l. 17
v> 11
X3 15

K4 13
Q.41 . is NOT a common bitmap-based file type extension. Question ID :9888374528
Status :Not Attempted

_ U ARG [SeAT-3TTRT BIsd <Is9 UFHce gl o Chosen Option :--
Ans i'(_1~ ODT
&> TIFF
# 3. PNG
# 4. PCX

Q.42 Statements followed by some conclusions are given below. Question 1D :9888374611
Status :Answered
Statements: Chosen Option ;2

A All men are mechanics.
B. All mechanics are engineers.
Conclusions:

I.  Some mechanics are men

II.  Some engineers are mechanics.
Find which one of the given conclusions logically follows from the given
statement.

UF FHUA A Fo HAeay H e o w2
Y.

A. sl Fepsg AFfaw g
B. mefr sl Ssiifaaw €1
oSy

l. o AFfbs a3 £
Il o Shfaay #Alaw g

Fla-gr vy BU 710 Fua &1 diffees &7 & 94 Hdr

Neither I nor IT follows

Ky aar | & &Il et &ar ¢
" Both I and IT follow
v | 3T 1l QT aree @

Only conclusion I follows

Xy had foshy | aree S g

Only conclusion II follows

X 4 ad sy || e Har §
Q.43 (‘)“CS“OHOSS%%%MSS?
ID: i}
Status :Answered
Chosen

Ans

10



Ans

Q.44
Ans

Q.45

Ans

Q.46

Ans

Q.47

Ans

Q.48

15 persons can complete a work in 60 days. If the number of persons is increased by 5, how Option :3
many 20 dayslier will the work get completed?

X220 6T F ot @Y 60 Al & G X TR &1 T afFaat v dwar 5 3 Tw

10 day
T oM e et e TEer T Y SieEn?
<5 10 fGet

15 days
V'3 15 e
45 days
Xy 45 fea
RMSK : SLUI :: KMFZ : ? Question ID 9888374580
K'l LIHB Status :Answered
- Chosen Option :2
¥, LLHX
/3. HKIB
< 4 LHKX
The Rowlatt Act was passed in the year = Question 1D :9888374501

i Status :Answered
{lefc Tae a¥ — # iR fear arm o) Chosen Option :3
A1 1921

X5 1917
3 1919
<4 1915

K borrowed Rs. P at a compound interest of 20% p.a. for 2 years. Interest amount payable was Question

Rs. 5,280. What was the value of P? D
Status :Answered

KQﬁQE%UzO%ﬁmmﬁmwpmmw%lmﬁﬁ Chosen

0888374563

afr 5,280 TR off| P &1 &A1 F4T 21? Option :
Rs. 12,000
&, & 12,000
Rs. 11,000
X, % 11,000
Rs. 11,750
X3 % 11,750
Rs. 12,500

X4 % 12,500
The cost price of a set of 2 pants + 4 shirts or 1 pant + 6 shirts is Rs. 5 600. A shopkeeper decided Question

: ; : 9888374566
to sell them separately. He sold 10 shirts for Rs. 6,000. Find the amount of profit or loss per shirt. < 1D N d
Status :Answere
29T+ 49¢ & UH YT AT 19T+ 6 AE & Uk HC & T Hed 5,600 9T g1 TF  Chosen

: Option :
GHIAGH Srg JCR-3TC o« &1 Ui &dr g1 384 10 A& 6,000 T & o7
gfad o ey @ gifa 1 gfer Fg fifEe)
Profit Rs. 1000
X T, $.1000
" Loss Rs. 1000
X, g, $.1000
. Profit Rs. 100
/<5 T, 100
Loss Rs. 100
4 &1fel, %.100
Q”“Fr‘))%888374550
Status :Answered
Chosen

Option :

AA



Ans ‘"‘yhe

Q.49 The minimum age limit prescribed for appointment as Governor of a State in India is

Train [y kmph A at 10 am and runs at a constant speed of 60 kmph on a straight track and

a distance of 360 km. Train Q starts from B at 11 am and runs towards A ata

ons][a"'oﬂgﬁhﬂ_q'osses train P at a distance of 120 km from B. What is the speed of train Q?

?gggﬂwfmﬁm. 10 5=t gadr & 3t 60 frdvge & vegaw 71 @ =

e {S0kmph  fRel g W FIF g B WX 9gach 81 Toemst Q wid: 11 59 f&¥g

?‘\3 201 n.\u.m%aﬂinwm?r%@rﬁagAﬁaﬁTaﬁﬁ%anﬁrPﬁ
P

60 kmph

X Fgo ooty § 120 el F1 g0 I 9N A ¢ [@EWS Q F oA F2;q 62

years.

Question
1D
Status :Answered

OR88374510

A A Rl Usg & Togare & & A fAgied & v R sgeae 3 @ Chosen

ay gl

Ans .K.l' 40

Q.5(

Ans

t_l'4 35
Comprehension:
Yogesh is taller than Alpesh but shorter than Dharmesh. Suresh is shorter
than Rajesh. Harish 1s not as tall as Alpesh Ramesh 1s taller than
Dharmesh but shorter than Suresh.

AT U H war foheq wHR ¥ ooler §1 g 9w o

oler g1 girer 3o fSaar &9r a8 g1 Toer gy & o r
fehed glar 9 oler gl

SubQuestion No : 50
) Who 1s the shortest of all?

g @eft 3 T9w o T 27

Harish
J E’ffﬂr

" Ramesh
~< 2. Tﬁ[‘\’T

Alpesh
3. 3reuer

Yogesh
24 e

Comprehension:

Yogesh is taller than Alpesh but shorter than Dharmesh. Suresh is shorter
than Rajesh. Harish 1s not as tall as Alpesh Ramesh 1s taller than
Dharmesh but shorter than Suresh.

AT U # war fheq wEf ¥ ooler 1 gl e ¥
BT §1 gler o9 faar oar a8 g1 e gffer & oer
fehed glar 9 oler gl

SubQuestion No : 51

Q.51 Height-wise, who 1s 1n the middle?

Ans

C
(8]

FOIS & IFQER Sl dra A §7

Dharmesh
v aafer

" Suresh
X, gl

Yogesh
?‘:.3‘ rarer

Ramesh
?‘:.4‘ THYT

19

Option :

Question 1D :9888374595
Status :Answered
Chosen Option :1

Question 1D :9888374596
Status :Answered
Chosen Option ;1

Question ID :9888374599



Rearrange the jumbled letters to make a meaningful English word and Status :Not Attempted
then select the word which 1s different from the rest. Chosen Option :--

e egaffud 3ERT ® JaAcdaiead & Ud @

FAS ereq FAW N T 3987 & 98 Asq g o AW H
Ans K EVCOL

&5 LCIYHL
¥'3 HLTCO
# 4. MIUNC
Q.53 If & means ‘+°, § means ‘—°, # means ‘" and % means ‘%’ then the value of QUCSFS%SR%?%XS
90p3 & 228552 &85#17. Status :Answered
afg & @1 3T v R S @ 3ot = R # oy ¥ 3R % & o3t x o e (E*l?‘“”z
Jption :
FT AT T §:
9% 3 &22%52&85#17.
Ans N 1. 8
v, 2
X3 3
K45
Q.54 Which of the following sites was added to the list of UNESCO’s World heritage sites in July Questiongeeearisie
20167 1D
& £ & £ £ 5 Status :Answered
ICPe) EZilEs G T?IDTVIT:-,‘»' 2016 :ﬂmﬁﬁ| e Olgl Fel T Chosen
anfder famam arar? Option
Khangchendzonga National Park, Sikkim
Ans | TS USE 3o, e
Mahabodhi Temple Complex at Bodh Gaya
X, FpEITT AT aRER, dEEmEr
Kaziranga Wildlife Sanctuary
X 3. FIGET I==ig AR
Keibul Lamjao National Park, Manipur
X4 PUSA A ST 3¢, AT
Q.55 *Leader of the House’ in the context of Lok Sabha refers to ! Question ID (9888374512
= Status :Answered
AREAT & Hgal H Had & ofar & 37 a R Chosen (i)ptli(Lllr: 2 B
Any designated member of the ruling party or coalition
Ans

xl.maﬂmmaaﬂaﬂémmﬁﬁm

v,
Either the Prime minister or a Minister who is nominated by the Prime Minister

GETAHAT AT YATHAT GaRT AlAd HAT

Leader of the Opposition
X, Tauer & aar
"’ The President of India
X4 AR & Jsgufa
Q.56 “Tropism’ mostly refers to the: Question [D 19888374526
; - e ] Status :Not Attempted
3 HTEPIRIG: GadT %- Chosen Option :--

Directional growth of a plant

Ans g, TRl dte b feemeRer fasT

" Longevity of animal species
X, TR geicEl $r rEg
Bird migration

K;m bl Hdld

1



Q.57

Ans

Q.58

Ans

Q.59

Ans

Q.60

Ans

Q.61

Ans

Behavioural pattern of humans

X 4 AT SAagR & dead
Arrange the numbers in descending order: Question 1D 19888374543
2411, 443, 345, 542 Status :Answered

. Chosen Option :1
FE3t F EUET FA A cuattd e

2411, 443, 3V5, 542

W 542,443, 345, 2411

X5 345, 443, 542, 2411

X3 2411, 443,345, 542

X4 43,345, 2911, 542
A person pays Rs. 8960 per month towards loan repayment which is 28 % of his monthly salary.  Question
Calculate his monthly salary. 1D :

Status :Answered

T edfFd HOT IGrET & ow 9fd A8 8960 9 ¢ar &, S 30s ANAF ddel &I Chosen

Option :
28% B 3% ATRE dded &l 0T HITav] prien
Rs. 32,000

v % 32,000
Rs. 34,000

25 . 34,000
Rs. 28,000

X3 %. 28,000
Rs. 30,000
2 4 % 30,000
Sam 1s the husband of Rosy. Geni is the mother of Rita and Rosy. Vaz 1s Question 1D (9888374592
the father of Rita. What is the relation of Vaz to Sam? Status :Answered

a7 Uit 1 9fg &1 e fiar 3w Ul Fr oAt g1 g dar Chosen Option :2

&1 TOar g1 arer d9 &7 FA1 o91dm g2
Brother

TS

" Father-in-law
o, T8
Father
A3, faa

Son
X4 der

On July 25, 2012, Shri Pranab Mukherjee assumed office as the th President of India. QUCSH(;"_()BSXBMS .

25 Sels 2012 &I = Yorg HE@oll o #Nd & d Usdid & ¥ A 967N T8 Suus Answered

e o) (§h9se'?4
. Option :
TSI
Ko 12
v; 13

9888374552

1Vh1‘%hlé‘f the following activity is NOT allowed for Payment banks in India? Question ID :9888374534
: Bt = Status :Answered

AR & HIdled dl @1 Frafaf@a # | e T > el a-? Chosen Option :3

Accepting deposit

STHT TR THFR HLAT

a3t Offering remittance facility
X, G 99T Faemd ggre HLI

Distributing simple insurance products

X3 FEROT AT 3cTE! #1 a0 S

Lending money
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Q.62 The total amount of interest received on two deposits of Rs. 5,000 for 4 years and Rs. 4000 for 5 Question,

9888374561
years, made at the same simple rate of interest per annum was Rs. 2 400. Find the rate of interest ID:
Status :Answered
Per: L. Chosen

4 a¥ ¥ TIT 5000 ST Qo 5 a¥ & AT 4000 &7 ST URRET X ATIROT srer 1 Option
Uh FAM alfiid T @ W A 2,400 R A w@aa A gred @d g aifis s

&I g7 T FIfST
Ans X 1. 4%
.K'z_ T%
V'3 6%
<4 8%
Q.63 According to experts, raging forest fires that took place in Uttarakhand recently have caused the  Question
formation of i 1D
- ) ) ) Status :Answered
fawsl & AR, g« & A 3cau@s & Sdrell A e FEUS AT & HRUT Chosen,
Option :~
1 feior g3m 1 b
Phosphorous
?(1. BRI
Black Carbon
v dE FEe

Carbon Nanotubes
Xy e Sellegg
Sulphur

X4 T

Q.64 A pre-independence era bunker was discovered in August 2016 at the Raj Bhavan in . Question
1D :

Ed 2016 H & JoHad A Tadadr 9iftd § 9ge & Uh S Smms::or 1
ttemptec

OrAar 49rdr| Chosen_
Guja_rat (:)pti()ﬂ .
X, eI
Arunachal Pradesh
X5 FTUTIA UG
Maharashtra
o3 HERIS
Tamil Nadu
X, areg

gl

Q.65 The escape velocity on the Earth's surface is about . Question 1D ;9888374521

Status :Answered
t‘[a’_cﬂ & g I g a1 AT %I Chosen Option :2
13.8 km/sec

Ans ?{1 13.8 fre/ass
"11.2 km/sec

5 11.2 fddas
213 km/sec

X3 21.3 fFdaEs
4.3 km/sec

X4 4.3 TFREs
Q.66 Indra Nooyi, an Indian origin leader, is associated with i Question 1D :9888374515
LT Hel @l Teh FIOIT EH'%FIT gﬁ?{ E—!:é’ & gafaa gl Chosen (S,;?it::; ;f;nswcrcd
IBM
Ans Kl] e o Ty
" PepsiCo

v 5 gofier

988R374505

Ans

9888374489

Ans

15



Q.67

Ans

Q.68

Ans

Q.09

Ans

Q.70

Ans

Q.71

Ans

CocaCola
X3, BT e
Microsoft
X 4 ATSHIEITT
Which of the following Indian States does NOT share an international border?
o 7 O g 9 o 1 O3 arsery T3t & o927 787 #:ar?
West Bengal
X, 9REHA Famer
" Haryana
v, s
Himachal Pradesh
Xy TeHTEe weu
Punjab
K4 9"
IfEAR = 24 and EYE = 35, then LEG =?
afe EAR = 24 ©d EYE = 35 &, df LEG = ?
v 24
1 25
<3 22
<4 23
Which of the following is NOT a characteristic of the *wave’?
T 7 & a1 ‘ader T [auerEr J6 g7
Wavelength
© Amplitude
Ko, 3
Frequency
Ky, I
~ Medium
v 4 T

<

Question 1D (9888374496
Status :Answered
Chosen Option :2

Question 1D ;9888374582
Status :Answered
Chosen Option :1

Question 1D :9888374524
Status :Answered
Chosen Option 3

If fire 15 called ice, ice is called sky, sky is called fire and water is called rain, then where do birds Questiong888 374584

fly?

1D :
Status :Answered

afe 39T 1 9, &t T THIRM, TR I IET 3T =T S Srier $er odr g, or Chosen,

Airr

- Bdl
?(.1. Water

?iz_ alel

i Fire

W3 3TET

sky
< 4. 3TeRTEr

Option :

Find the increase in circumference of a cirele of radius 14 cm, if the radius is increased by 7 em. (‘)ucstiongggm7 4570

=)

1D :
Status :Answered

14 Qe Fswr ardl vs ged F 9RfG 7 gy aa AR, afy fear & 7 @i & Chosen

gfe #1 Sl §1 =)
44 em

44 B

“1.22 em

?(2. 22 G

66 cm

X3 66T

16
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88 cm

.K.4. 88 THT
Q.72 The value of which one of the following fractions falls in between H and £ 7 Quesugn ID :9888374542
5 g Status :Answered
3 7 Chosen Option :2
i et b ?
ﬁmﬁﬁaﬁﬁﬁmm@ﬁrﬁmﬁ?mﬂﬁm &7
B
Ans X 1 g
v, 3
.12
X 3. 13
- 4
K47
Q.73 Antimatter particles corresponding to electrons are called ; Question 1D 19888374519
i X Status :Answered
2o aCl & HHGed | dged F S— R D] %I Chosen Option :4
Neutrons
Ans .
AR L
rrotons
Ao et
Antielectron
X3 Uligelagie
Positrons
‘."4‘ TG
Q.74 Evahists: sin3d 5 sinds Question 1D 19888374571
" cosds cos30 Status :Answered
Teisa f1TST 5in30 _ sin4s Chosen Option :3
g cos45 cos30
N V2
ANS . =
K V3
2
Ko V3
1
W3 \,@
&
X4 V2
Q.75 Which of the following is NOT true with reference to a real number? Question 1D :9888374540
y : Status :Answered
frfaf@d & 8@ Pla-ar Sue v aredfas dear & dHgst H el e 82 Chosen Option :4
All irrational numbers are real numbers
Ans

X welr 3 gead adfas e gl
£ @1 number need not necessarily be a point on the number line

UF ardiad T & AU e Wr W oS AfAant §6g g sraas w9 g

A Real number is unique

Tk aREdias TEIT Hefad g

#<3 All rational numbers are real numbers

X 4 Tsl ofFg gEand adfas §Edan gl

Q.76 I (2a/m + bf) = 2 and (@/m — b/n) = 4, find the values of ‘a’ and *b’ respectively. Question ID :9888374569

Status :Answered
Afe (2a/m + bin)=2 T (@/m—bm)=4 §, A SAA: ‘@ TAT b’ & AW Ad PIAT | pyosen Option,

Ans ‘.’,1. 2m, -2n
A5 -2n,2m
?(3. 2m_ 2n
Q.77 I X wo-2m; 2rithree-fifth of a number is 42, find one-third of that number.

afe v dTa & 35 # ar [Ags 42 §, df 39 §E 1 ve fdgrs A Hifaw) Question 1D 19888374549
Status :Answered
Chosen Option :4
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Ans K.l_ 40

X3, 33
v, 35
Q.78 The principle of gyroscope is NOT used in a 3 Question ID :9888374522
2 Status :Not Attempted
AMSNEHIT & Fgid 1 9@eT # A% foRar S P

Chosen Option :--
Computer mouse

K, P AR
Smart Phone
.?ilz. THIE B

Inkjet printers

V5 ST B
Racing car
4. U =
Q.79 Find the mode of the following data: Question ID :9888374573

Status :Answered
100,120, 110,90, 120, 140, 130, 120, 110, 100, 20, 140, 120, 100 Chosen Option :2

He=elf@d iesl &r Sgei A ERiE L

Ans

100, 120, 110, 90, 120, 140, 130, 120,110, 100, 90, 140, 120, 100
Ans K-l. 100
v 120
<3 90
#4140
Q.80 Find the discount in percentage, if a book whose marked price is Rs.90 is sold for Rs.76. Question ID

o (yiderd #) g $ifeie, afe 90 €. 3ifed Aeg &1 U fbdd 76 & H O Sl 006 - Answered
%I Chosen
: Option :
Ans K1 14.65%
v> 1556 %
X31345%

X4 1475 %
Comprehension:

0888374551
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
II, III and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

Aafafag arfesr &1 3regga &1 3T 9 er v gt
T 3cd Gl

affeer & 37 oEl g dem afEd § e ssd
Fafert 1, 11, Il carr forar amm ¥, @ & #e= P, Q, R
der S @ v v st & gfderd off far mar g

HES o v P Q R S

e IO RICORRICO M IC)
HE4ar

| 1800 24 32 28 16

1] 2400 27 30 29 18

1 1500 32 20 20 23

SubQuestion No : 81
Q.81 What 1s the total number of students hired by Company Il from Colleges
P.R and §7

&aell || gaRT ielst P, R @21 S @ Tov a7¢ ol #1 Fal
gear o 37
Ans ?‘\_1' 1752
# 2. 1800
3 1968

¥ 4. 1680
Comprehension:

10

Question

1D :

Status :Answered
Chosen
Option :

98883746006



Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
II, III and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

Aafafag arfesr &1 3regga &1 3T 9 er v gt
T 3cd Gl

affeer & 37 oEl g dem afEd § e ssd
Fafert 1, 11, Il carr forar amm ¥, @ & #e= P, Q, R
der S @ v v st & gfderd off far mar g

HES o v P Q R S

. STE &

L] ) (%) | (%) [(%) |[(%)

HEAT

| 1800 24 32 28 16

| 2400 27 30 29 18

1} 1500 32 20 25 23
SubQuestion No : 82

Q.82 Find the difference between the number of students hired by Companies 11 ()ueslionggggwémﬂ_f

and IIT from College E. q 1D : ) |
; : i - Status :Answer
S Il wd Il gy Pieet R & O a0 ot i deasit Chosen. oo

Option :

b

[ R S R e I
=t [
o O

vy 225
Comprehension:

[

20



Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
II, III and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

Aafafag arfesr &1 3regga &1 3T 9 er v gt
T 3cd Gl

affeer & 37 oEl g dem afEd § e ssd

Fafert 1, II, 11l gamr o amr &, @nr & st P, @, R
der S @ v v st & gfderd off far mar g

HES o v P Q R S
. BTE $
HYAT ) (%) | (%) [(%) |[(%)
|Ear
| 1800 24 32 28 16
| 2400 27 30 29 18
1} 1500 32 20 25 23
SubQuestion No : 83
Q.83 How many more students did all the three companies together hire from Q“ef‘tionggggwgr( )
: i . 374604
College P in comparison with College §? 1D :
v v , Status :Answered
Fletsl S & Jetell # Hicrol P T cli=ll Hul=ral o Fel Tt Chosen
s aF G %.-9 Option :
Ans W 495
2. 510
3 480
<4 535

Comprehension:
21



Q.84 What 1s the difference between the number of students hired by Company
IIT from College P and that hired by Company I from College ()7

FUeit Il g@RT &ierad P & & arw 3R Sl | g@rr Fiea

Ans

Q.85

Ans

Q.86

Ans

Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
II, 111 and the respective percentages of such hiring from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

Aafafag arfesr &1 3regga &1 3T 9 er v gt

FT 3cd ¢l

affeer & 37 oEl g dem afEd § e ssd
Fafert 1, 11, Il carr forar amm ¥, @ & #e= P, Q, R
der S @ v v st & gfderd off far mar g

HES o v P Q R S

e IO RICORRICO M IC)
HE4ar

| 1800 24 32 28 16

Il 2400 27 30 29 18

11 1500 32 20 20 23

SubQuestion No : 84

Q ¥ o 17 orEr 1 et &1 JaT #7141 §7

X1 118

v 96

X3 132

<4 124

The famous Brihadeeswara Temple is located in

9iig geaeay AlG & o g
Telangana
X1, deraTar
Tamil Nadu
v, T
Kerala

?‘\'3. el

Karnataka

K'4‘ FeAlcah

lake is one of the largest fresh water lakes in Asia

siter ufram 6 T=d 937 det 9er 7 S| 7 J UE g

Vembanad

1.

29

Question

1D :

Status :Answered
Chosen
Option ;

9888374605

Question 1D :9888374517
Status :Answered
Chosen Option :2

Question 1D :9888374495
Status :Answered
Chosen Option :4



Sambhar
?(2. LIIEny
Chilika
<3, Waular"
S GAS
Q.87 A Statement followed by some conclusions is given below. Question 1D 9888374597

Status :Answered

Statement: Adversity 1s the best teacher. Chosen Option :1

Conclusions:

I Poor people are learned.

II.  Adversity provides opportunities to learn.
Find which of the given conclusions logically follows from the given
statement.

T Fee AR 30H FO fAvhy A e o @
Fya: giasd TR w9 ser Ras g
sy

I fade «afFg @f@Ea @i &
Il afderer TRFEUT WEs & 3wt gee & g
Fia-ar fvey arifee €1 & @T 310 Fa &1 9red HLdr ol

Only conclusion IT follows
Ans o, Fae Y 1| AT T &
" Neither I nor II follows
KXo stdrla &Il 9 &ar ¢
Only conclusion [ follows
X Faer ey | 9T #XT
Both I and IT follow

K4 1 301l gt grere & g

Comprehension:
In a group of 83 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 =afFadl & usd @A A 45 @91 39AE 9ed g, 37
Ffaad Jed &, 9 8 7 df 3T=ag 3T 7 & Fade Jed
el

SubQuestion No : 88

Q.88 Find the number of persons who read either novels or poems. (‘)UESlion()ggRW;].(i()]
- =r A=) [D : .
3 ©RN HT qEA Iq S a1 & 39T A1 Hiadil ged Status - Answered
%:! (,)Ch(.JSCHE
S Dption ;
Ans i'(_l' H
2. 82
<3 45
Xy 53

Co mﬁrehension:
In a group of 83 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 =afFadl & ued @A A 45 @91 ITaE 9ed g, 37
Ffadd Jed &, 9 8 7 df 3T=ag 3T 7 & Faad Jed
el

SubQuestion No : 89
C et
Q89 QUeIONg 888374602

22



Find the number of persons who read both novels and poems. Status :Answered

Ans 2 gl T AT A S e 3R FRa g Ted S;ﬁ;f“ﬁl
Kz 7
X3 8
v,y s

Q.90 111 Russian, 407 Chinese and 259 Japanese tourists have assembled at a place. Identical batches ~ Questionegean 54y
containing the same number of persons from each nationality has to be formed without leaving 1D

: : Status :Answered

out anybody. Find the total number of persons in each batch. Chosen

111 T, 407 et Fom 259 SRR AG Ue SOE W owRlia gu & Al e o Option =~
afFa #1 o 99 0 I7%T g 990 S & 76 §X oo & Us USCIdr & eafdaar

1 T FAC @, d 9AF g F dafFadt 1 Fa @@ Ad Hiew
Ans Kll. 18
v 21
3 10
X414 -
Q.91 assumed charge as the Governor of the Reserve Bank of India in September 2016. Questiongggm.},45 14
E ID: "
o [det 2016 & AT Red dF & 79 & §9 A FRAAR TG00 Status :Answered
fRaT Chosen
| Option :4

Dr. A. Panagariya

Ans 3t T g
" Dr. Rakesh Mohan
X, Bi. e Alg
Dr. Raghuram Rajan
X5 31 TUHA e
Dr. Urjit R. Patel
o4 31 36T IR 9¢A
Q.92 The amount of simple interest on a deposit of Rs. 8,500 for 3 years is Rs. 2,040. Find the rate of ~ Questiongegcq-,504

interest per annum. 1D :
Status :Answered

ST $r IR 8,500 T hT [Er FT 3 W H Graer sAreT 2,040 €= g1 sAT FT O Chosen

A% e T B Option :
Ans i"_l‘ §%
<o 85%
*3 9%
X4 75%

(.93 The peripheral devices of a basic computer system does NOT include the: Question 1D :9888374527
Status :Answered

v FAd Fogel freA $1 9t Raedt # ag arfAe ¢ g Chosen Option 4
Printer
Ans Kll el
" Keyboard
Ao draE
Monitor
A3, Alfee
CPU
v,y °r dr 7
Q.94 Question 1D 9888374598
Status :Answered
Chosen Option :3

24



Ans

Q.95

Ans

Q.96

Ans

Q.97

Ans

Q.98

Statements:

I.  All the dogs are black.

II.  All the cats are white_
Study the above statements and select the appropriate answer option based
on them.

UG All the animals are either black or white.
2‘21 Tl SA=aT AT ar Srel AT DG ol

O R T RS T T T |

No amimal 15 brown.
X, @IS Sieral o el g

mSome animals are black and some are white. U W 3TaFd
W IO ST FTel A FE TG

oAy ﬁ:;; Iammal 1s black and white.
X, FS A e I The AGT ¢

Who was the Speaker of the first Lok Sabha?

GoH RO AT Hid A?
M. N. Kaul

X1 uH. ud. @id
G. V. Mavalankar

W Gl d1. A
M. A Ayyangar
X3 T T 3R
Sardar Hukam Singh
X, TER g g
Which of the following group of rulers was NOT called *Sultans’?
et & @ frd 9 & AP H Yodlel 61 Hgl Sl AT?
Lodis
X, vl
Khiljis
X5, f@ersh
Mughals
“(3 o
Tughlags
X4, e
Which of the following species is also called the *Kashmir Deer’?
T # @ g gonfa &1 ‘el Gyor off ser arar &2
Hangul
vy @3
Barasingha
.K.z. IRIfEET
Sangai
X3 s
Cheetal
< 4 drger

25

Question [D 9888374509
Status :Answered
Chosen Option :2

Question 1D ;9888374499
Status :Answered
Chosen Option :3

Question 1D :9888374507
Status :Answered
Chosen Option :1

Question ID 9888374610
Status :Answered
Chosen Option :4



Statemrsnt - : : o
Those who cannot appreciate music become mathematicians.

Ans TVEEST St @ Gl T TEST AT X, 3 afoTaw I+ o
TT M. ch
E‘fl

\'Ia_;orit\-' of the mathematicians are not good musicians.

No musician can become a maﬂlematlcmn

W@éaﬁmﬁﬁﬁwmﬁﬁﬁaﬁaﬁmﬁl

= Music and mathematics do not go together. - a__?
v, d@3fa 3 aifvra us arer S Tl
Q.99 Which team won the Copa America 2016 Football Championship?
Fla-AT & Peara FaANTar a1 3ARE 2016 & ®Hizad $1 &eiar @r?
Argentina
?(1. Haldrar
USA
Kz. J 2 C 8 :
Colombia

X 3. PrefEaar
Chile
vy el
Q.100 ‘RailTel Corporation’ is a

{eleel FRUNLE Uh gl
Private Sector Enterprise
Ans x ﬁ'sﬁ' a%—.;r T W
" Public Sector Undertaking
v OdSfAF & FT 3Tk
Partnership Firm
Xy Wi & gaE
Joint Sector Enterprise
X, 9gFd & 3UhE
Q.101 A1s Qs sister. C 15 Qs Mother. P 1s C’s father. E is P’s mother. How 15 Q
related to P7
AQ#FTTga gl CQHTATgI PC FT™argl EP &1 A
g1 9t fF Q P i Fam 82

Daughter

Ans .?{ Eral

" Cannot be determined

W, ToreiRa agt & o1 w@ear &

Grandson
X3, dr
Granddaughter
X, o
Q.102 Identify the professional Indian shooter from the following options.

= faFedl & T 999 IR Henders & 9gae|
Sudha Singh

Ans o er ﬁel?
I Shivani Katariya
X, fararh serfr
Anjali Bhagwat
v 3 3isfer smTad

Ans
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Question ID 9888374503
Status :Answered
Chosen Option :1

Question 1D :9888374336
Status :Not Attempted
Chosen Option :--

Question 1D 9888374591
Status :Answered
Chosen Option :2

Question 1D ;9888374504
Status :Not Attempted
Chosen Option :--



Lalita Babar
X 4 wferar =R

Q.103 Which of the following 1s the most appropriate description of INS Arihant? Question 1D 19888374490
Status :Answered

S U wH ARG e A ¥ 1 27 Chosen Option :1

Submarine
Ans ‘.’1 tﬁlg&ﬁ'
" Indian Navy base
X, 9 Atger 3
Frigate
X5, Taha
Aircraft Carrier
X 4 TaAE-ags 9id

Q.104 The sum of two positive integers is 42 and their difference is 4. Find their product. Question 1D :9888374541
Status :Answered

MG ED w 1 AETHel 42 TAT Hal 4 g1 31 A0TeThel Ald HifaT] Choscn Option :2
X1 402
v, 437
X3 416

<4 376
Q.105 The length of a rectangular board is 4 times that of its breadth If the area of the board is 256 sq Question

meters, find its length. 1D :
Status :Answered

UF HATEER A I omers 3uh e F 4 N 1 AR S1E FoaEwr 256 T Chosen
Hey g, dI 39T oFas A v Option :

8m

Ans - 8T
“1 16 m

?ﬁg_ 16 #Hr

24m
.?{3. 24 H
32m
vy 328
Q.106 Total solar eclipse occurs when : Question ID 19888374520
TJ? W das Eﬁa—[ % . WA Chosen (ﬁ?];?it(l)ls ;’;‘nSWC]Cd
the Moon is farthest from Earth
Ans 9o gl @ Sfdead ot WA
1. the Moon enters the Earth's shadow
X, daAr gl 1 o 7 gdwr HY
the Sun, Moon and Earth are in a direct line
v T3, dgAT 3R el o el Y@ A g
the Sun, Moon and Earth are not exactly lined up
X, T, ggAT R gedt ek el {@r A ar gl
Q.107 High tide : Sea :: ? : River Question 1D 19888374575

Status :Answered
od-HTET - HHg 7 ar Chosen Option :4
Dam
oane
X 1. Hydroelectricity
X, gefaetenr
Bank
A3 framr
Undercurrent

o 4 JiavETg

Ans

0888374554

Ans

Question 1D :9888374497
Status :Answered

27



Which T’.‘h‘l‘r‘{l ’kﬂ’{l‘ljgl'ﬁrmg piece of literature was NOT written in Sanskrit? Chosen Option :1

Ans H] IGEEC TGl fr H”% e ‘:i_’ra ‘H'{'ﬁf_’d #H d Hﬁ %—r)

Ratnavali

&>, Tearaen
Rajatarangini

X3, Trsradfaron
Meghdoot

X, HEed

Q.109 _Select the correct combination c_)f mathematical signs from the options given to replace # signs Question ID,_ORREB 74586
in order to get a balanced equation -

Status :Answered
1489#3#194#6 Choscn4
fqu arv Tashodl & AfOTcT Teal &1 H@g1 T gasd # ee #1 gqel 3 Th Option

dqfeid |#HEoT gred 94T

14 #9#3#19#6
Ans A1+ =+ -

Ko+ x=+
.".4_ = X — +
Q.110 Speed of a boat 1n still water 1s 12 kmph and that of the current 15 3 kmph. A man rows a boat Que‘t’lionﬁ)888174560
upstream up to 135 km and returns downstream to the starting point. Find the total time taken for 1D
S : Status :Answered
the entire journey in hours. Chosen

T A FT R o A g 12 GRAEe g, 9T 9R1 $r 9 3 fGevEer g1 ue Option:
gfFd A & anr 1 gideel feer & 135 AT e Siet gy &1 3edshel G2 eid
gC # yRfA® T§g oX a9y elc 3Hdr g gt A HT aF e H o FAT HE A
EIGEEIE Y
Ans i"_l-24
Ko 48
<3, 36
<4. 30

Q.111 Human hypothalamus gland ; Question ID :9888374525
Status :Answered

Hleld WHHH afar &M %l Chosen Option :3
lies just below the stomach
ANS o 3ET & &IF =g
L lies in the lower part of neck
?(2. e & foae 1%_\:\# H
is present in the brain
o ; AfEgss & 39ffua
1s attached to the wind pipe
X, TR el SR

Q.112 Find the value of *?° in the following series. Question 1D :9888374578
Status :Answered
6:30::7:7? Chosen Option :4

Ffaf@a si@en & 2 &1 A &3

6 :30 7 :7
1. 56
X5 49
3. 35

Wy 42

Ans

Q.113 Question ID :9888374553
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Find the area of a triangle whose sides are 5 cm, 12 cm and 13 em. Status :Answered

. : Chosen Option :3
e 36 4050 o g Ffsre e somd s A, 12 W aar 1399 ) osen Lption
X1 a6 T d=h

42 sq. cm

Ko 42qd @A
30 sq. cm

5 309 @Y
38sq.cm

?(4_ 38 9T @ﬂ:ﬁ

Q.114 Indian Space Research Organization was formed in Question 1D :9888374531
Status :Answered

m Jianat Wﬂ'ﬁ' Harod T T LD -ﬂé‘- ATl Chosen Option :1
Ans W 1969
75 1962
X3 1971
41975
Q.115 The speed of car M is twice that of car W_ If car M covers 120 km in 2 hrs & 30 mins, what is the Queslio119888374558

speed of car W? ID:
Status :Answered

FAM T I FR W B Tl F QT ¢l I P M 2 5 3R 30 A F 120 Chosen,

Option :~
feralt &1 g0t o el &, dl SR W T =rer a1 §? ’
36 kmph
X 1. 36 fe)/ger
48 kmph
25 48 fepali/ger
24 kmph
V'3 24 fersfirder
42 kmph
X 4. 42 Torev/Eer
Q.116 ‘RailWire’ 1s related to: Question 1D 9888374538
‘w %. _Sta_tus :Answered
’ “hosen ( 3
Brand name of a cable Chosen Option

w T helel T F5 AT
1. Fencing of railway stations

Railway electrification

X, Yerd faggdeor

Railway broadband service

vy e wisds gar
Q.117 In which of the following countries did United Kingdom’s rule formally end in the year 19867 Questiongecerzia9s
1D )

ot & & 5w du A a¥ 1986 A Fenzcs harsd &1 amdel TaRE 1 & A gy Answered
Chosen,
§3? Option :
Austraha

Ans . 3I{§ié!ﬂl

%' | SriLanka

25 #eieT

Maldives
A3, AT
~ Canada

2 4. FaATST

Q.118 Question 1D 9888374577
Status :Answered
Chosen Option :1

Ans

Ans

20



What will be the next number in the series?
wa ﬁ'? 123 214,72
KS”31?3 Tl HEAT FAT g

Ans

K§53%“z 123, 214, 2

4, 292
24 14

Find the value of k in 2 B e o=
217 9 13

Q.119

E:E::k:ﬁﬁkﬂﬁﬂmmﬁﬁﬁ'@l

Ans .K
1.
s,

L)

B = b | =

Vs

43
Q.120 Which one of the following is NOT a correct description of median?
Arfeiad # & Fia-a1 vs AfEgHT F1 @1 fgaor 781 82

It 15 not affected by extreme values.

Ans X, TE A A ¥ gANGT 7L el B

" For odd number of values (n), median is (n+1)/2.

X, A (n) $1 favw g & v Aiftger (+1)2 B
It 15 based on all observations of data.

V' Ig 3iwst & @i daTont WX 3meania gidr g

It can be determined graphically.

X4 30 W@iEa 8 uiRa fFar o g g

20

Question 1D :9888374547
Status :Answered
Chosen Option :3

Question 1D ;9888374572
Status :Not Attempted
Chosen Option :--



